



PO:

Shipping Address:

TBD Private Lot

Beverly Hills

Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

01/14/2024 09:00 AM | Install Day 1 01/15/2024 09:00 AM | Install Day 2 01/16/2024 09:00 AM | Install Day 3 01/17/2024 09:00 AM | Install Day 4 01/18/2024 09:00 AM | Install Day 5 01/19/2024 09:00 AM | Install Day 6

Due Date: Upon Receipt

Invoice Date:

Salesperson: Angela Murelli

01/20/2024 09:00 AM | Touch Ups 01/20/2024 03:00 PM | Stand Bys 01/20/2024 08:00 PM | Event Date

01/21/2024 08:00 AM | Revelry (Dead Day)

01/22/2024 08:00 AM | Strike Day 1 01/23/2024 08:00 AM | Strike Day 2

| Description | | Qtty | Price | | Total |
|-----------------|--|-----------|-------------------|-----|-------------|
| Front Face of M | ain Tent | | | | |
| | Exterior Front 'Face' Drape - Material TBD 30'H x 100'W to camouflage exterior of tent | 1 | \$8,000.00 | Т | \$8,000.00 |
| | | Total Fro | nt Face of Main T | ent | \$8,000.00 |
| Mirror Room | | | | | |
| | Exterior Truss Ceiling Drape - TBD Color for a 20' x 40' x 12'H | 1 | \$1,600.00 | Т | \$1,600.00 |
| | Exterior Truss Perimeter Drape - TBD Color for a 20' x 40' x 12'H | 1 | \$3,675.00 | Т | \$3,675.00 |
| | NEW Plexi Mirror Ceiling Panels 3'W x 9'H | 12 | \$1,650.00 | Т | \$19,800.00 |
| | NEW Mirror Wall Panels 3'W x 12'H | 18 | \$2,150.00 | Т | \$38,700.00 |
| | NEW Mirror Wall Panels 2'6"W x 12'H | 2 | \$1,825.00 | Т | \$3,650.00 |
| | NEW Mirror Wall Panels 5'6"W x 4'H | 2 | \$1,400.00 | Т | \$2,800.00 |
| | | | Total Mirror Room | | \$70,225.00 |
| Cocktails Space | | | | | |
| | Perimeter Wall Paneling - Light Grey (Material TBD) for (2) 70'L walls Lighting to add LED behind to create an effect similar to rendering | 1 | \$28,000.00 | T | \$28,000.00 |
| | Ceiling Drape - Light Grey Scuba (Flat) for a 70' x 100' Tent | 1 | \$15,150.00 | Т | \$15,150.00 |
| | Station Pop-Out Area - Light Grey (Material TBD) Fabric Paneling to create hidden area for food stations. Alcove opening to be 16'W x 12'H and overall dimensions are 20'W x 10'D | 3 | \$6,500.00 | Т | \$19,500.00 |
| | Pullback Drape for Station Opening - Fabric TBD open is 16'W x 12'H | 3 | \$750.00 | Т | \$2,250.00 |

| | Qtty | Price | | Total |
|---|--|--|--|--|
| Photo Pop-Out Area - Light Grey (Material TBD) Fabric Paneling to create hidden area for food stations. Alcove opening to be 16'W x 12'H and overall dimensions are 20'W x 16'D | 1 | \$7,500.00 | T | \$7,500.00 |
| Pullback Drape for Photo Op Opening - Fabric TBD | 1 | \$750.00 | Т | \$750.00 |
| Central Opening 40'W x 20'H - Light Grey (Material TBD) Flat Fabric; tbd on skeleton structure needed here for this build | 1 | \$11,500.00 | Т | \$11,500.00 |
| Flat Opaque Kabuki Drape Wall - Material TBD for image projections; need clarification on required material etc | 1 | \$4,500.00 | Т | \$4,500.00 |
| Sheer Transparent Kabuki Drape Wall for a slow transition from cocktails to reception; need clarification on required material etc | 1 | \$4,500.00 | Т | \$4,500.00 |
| Reflective Mirror Truss Arch w. LED Backlighting for entrance into the main reception | 1 | \$65,000.00 | Т | \$65,000.00 |
| Custom 'Trumpet" Fabric Structure - Light Grey (Material TBD) | 2 | \$10,000.00 | Т | \$20,000.00 |
| NEW Metal Frame Curved Barback 6'D x 12'H simple frame with plexi shelves; painted TBD color with LED rope lighting around rim of shelving | 2 | \$5,000.00 | Т | \$10,000.00 |
| Monaco Bar 16'D - White Frame w. Slatted Mirror 16'10"Diam x 3'7"H - Color Change Upon Request | 2 | \$3,600.00 | Т | \$7,200.00 |
| Monaco Straight Banquette - Channeled White 6'W x 39"L x 30"H | 8 | \$350.00 | Т | \$2,800.00 |
| Las Vegas Coffee Table - Mirror Rectangle 48"W x 24"L x 18"H | 8 | \$250.00 | Т | \$2,000.00 |
| NEW Accent Tables - Style TBD | 12 | \$500.00 | Т | \$6,000.00 |
| NEW Modern 10'D Daybed Tophat - White with LED lighting in central area | 1 | \$6,500.00 | Т | \$6,500.00 |
| NEW Coffee Tables 36"D - Style TBD | 2 | \$1,450.00 | Т | \$2,900.00 |
| NEW Accent Tables 24"D - Style TBD | 10 | \$500.00 | Т | \$5,000.00 |
| Berlin Serpentine Sofa (3pcs) - White Left - 44"W X 60âM M âM X 33âM M âM MRHght - 44âM M âM X WOâM M âM M L X 33âM M âM M Center - 62âM M âM M 100âM M âM M 33âAM M âM M H | 2 | \$1,250.00 | Т | \$2,500.00 |
| Aspen Swivel Club Chair - White Boucle 26" x 30" x 30" | 8 | \$250.00 | T | \$2,000.00 |
| New York Swivel Chair - REUPHOLSTERED White 28"Diam x 34"H | 8 | \$450.00 | Т | \$3,600.00 |
| | Fabric Paneling to create hidden area for food stations. Alcove opening to be 16'W x 12'H and overall dimensions are 20W x 16'D Pullback Drape for Photo Op Opening - Fabric TBD Central Opening 40'W x 20'H - Light Grey (Material TBD) Flat Fabric; thd on skeleton structure needed here for this build Flat Opaque Kabuki Drape Wall - Material TBD for image projections; need clarification on required material etc Sheer Transparent Kabuki Drape Wall for a slow transition from cocktails to reception; need clarification on required material etc Reflective Mirror Truss Arch w. LED Backlighting for entrance into the main reception Custom 'Trumpet' Fabric Structure - Light Grey (Material TBD) NEW Metal Frame Curved Barback 6'D x 12'H simple frame with plexi shelves; painted TBD color with LED rope lighting around rim of shelving Monaco Bar 16'D - White Frame w. Slatted Mirror 16'10''Diam x 3'7"H - Color Change Upon Request Monaco Straight Banquette - Channeled White 6'W x 39"L x 30"H Las Vegas Coffee Table - Mirror Rectangle 48"W x 24"L x 18"H NEW Accent Tables - Style TBD NEW Modern 10'D Daybed Tophat - White with LED lighting in central area NEW Coffee Tables 36"D - Style TBD Berlin Serpentine Sofa (3pcs) - White Left - 44"W x 60@8 8 & x 33@8 & 8 Right - 44@8 8 & X W0@8 8 @8 B L X 33@8 & 8 & X 33@8 & X 33@8 & 8 & X 33@8 & X 33@ | Photo Pop-Out Area - Light Grey (Material TBD) Fabric Paneling to create hidden area for food stations. Alcove opening to be 16W x 12'H and overall dimensions are 20'W x 16'D Pullback Drape for Photo Op Opening - Fabric TBD 1 Central Opening 40'W x 20'H - Light Grey (Material TBD) Flat Fabric; tbd on skeleton structure needed here for this build Flat Opaque Kabuki Drape Wall - Material TBD for image projections; need clarification on required material etc Sheer Transparent Kabuki Drape Wall for a slow transition from cocktails to reception; need clarification on required material etc Reflective Mirror Truss Arch w. LED Backlighting for entrance into the main reception Custom 'Trumpet' Fabric Structure - Light Grey (Material TBD) NEW Metal Frame Curved Barback 6'D x 12'H simple frame with plexi shelves; painted TBD color with LED rope lighting around rim of shelving Monaco Bar 16'D - White Frame w. Slatted Mirror 16'10'Diam x 3'7'H - Color Change Upon Request Monaco Straight Banquette - Channeled White 6'W x 39'L x 30'H Las Vegas Coffee Table - Mirror Rectangle 48'W x 24'L x 18'H NEW Accent Tables - Style TBD 12 NEW Modern 10'D Daybed Tophat - White with LED lighting in central area NEW Coffee Tables 36'D - Style TBD 10 Berlin Serpentine Sofa (3pcs) - White with LED lighting in central area NEW Coffee Tables 24'D - Style TBD 8 Berlin Serpentine Sofa (3pcs) - White Left - 44'W x 608# 8 # x 1338# 8 # X 1808# X 1008# 8 # x 338# 8 # X 1008# 8 # x 3008# X 3008# 8 # X 3 | Photo Pop-Out Area - Light Grey (Material TBD) | Photo Pop-Out Area - Light Grey (Material TBD) |

| Description | | Qtty | Price | | Total |
|-----------------|--|------|--------------------|-----|--------------|
| | Tangier Channeled Club Chair - Off White Velvet 25" x 25" x 37" | 16 | \$225.00 | Т | \$3,600.00 |
| | Ottoman Pod 18"D - White 18"RND x 17"H - Cover Color Upon Request | 16 | \$55.00 | Т | \$880.00 |
| | Accent Pillows - White | 65 | \$30.00 | Т | \$1,950.00 |
| | Las Vegas High Cocktail Table - WHITE with LED around underside of tabletop 36" x 40"H - Can be custom painted | 12 | \$275.00 | Т | \$3,300.00 |
| | Table Mirror Top - Round Beveled 36"D for the stand up tables 36" round | 12 | \$100.00 | Т | \$1,200.00 |
| | Barstools - Amsterdam - White 20"W x 20"L x 43"H | 25 | \$25.00 | Т | \$625.00 |
| | Barstools - Abu Dhabi - Chrome 17"W x 16"L x 47"H - Seat Height 30" | 35 | \$25.00 | Т | \$875.00 |
| | | Т | otal Cocktails Spa | ace | \$241,580.00 |
| Reception Space | е | | | | |
| | Custom LED Star Drop Drape - Opening from Cocktails 40'W x 20'H arch opening; Overall dimensions 52'W x 30'H | 1 | \$55,000.00 | Т | \$55,000.00 |
| | LED Star Drop Drape 20'x25' w. Ties | 20 | \$2,966.00 | Т | \$59,320.00 |
| | LED Star Drop Drape 20'x10' w. Ties | 7 | \$1,393.00 | Т | \$9,751.00 |
| | LED Star Drop Drape 20'x10' (no added ties) | 11 | \$1,015.00 | Т | \$11,165.00 |
| | LED Star Drop Drape 30'x15' w. Ties | 4 | \$2,990.00 | Т | \$11,960.00 |
| | Perimeter Valance - Black | 1 | \$1,250.00 | Т | \$1,250.00 |
| | Truss Covers - White Quantity TBD; cost is a guesstimate | 1 | \$2,675.00 | Т | \$2,675.00 |
| | Monaco Round Booth - White Velvet (2pcs) 6â 10"w3â 2"x3â 3"H | 6 | \$600.00 | Т | \$3,600.00 |
| | NEW Monaco Round Booth - White Velvet (2pcs) | 4 | \$5,000.00 | Т | \$20,000.00 |
| | Las Vegas Round Coffee Table - Mirrored 52"D 52"Diam x 24"h | 10 | \$250.00 | Т | \$2,500.00 |

| Description | | Qtty | Price | | Total |
|------------------|--|------|---------------------|-----|--------------|
| | Ottoman Pod 18"D - White | 20 | \$50.00 | Т | \$1,000.00 |
| | 18"RND x 17"H - Cover Color Upon Request | | | | |
| | NEW Ottoman Pod 24"D - White | 20 | \$150.00 | Т | \$3,000.00 |
| | NEW Rounded Banquette 6'L - White (Material TBD) to fit in the circumference of 20'D structure (as shown on diagram). Seat depth is 20" x 20"H | 6 | \$3,975.00 | Т | \$23,850.00 |
| | NEW Rounded Banquette 6'L - White (Material TBD) to fit in the circumference of 8'D structure (as shown on diagram). Seat depth is 20" x 20"H | 4 | \$3,875.00 | Т | \$15,500.00 |
| | NEW Rounded Banquette 5'L - White (Material TBD) to fit in the circumference of 16'D structure (as shown on diagram). Seat depth is 20" x 20"H | 6 | \$3,250.00 | Т | \$19,500.00 |
| | NEW Rounded Banquette 5'L - White (Material TBD) to fit in the circumference of 10'D structure (as shown on diagram). Seat depth is 20" x 20"H | 4 | \$3,250.00 | Т | \$13,000.00 |
| I | Stockholm Bistro Table - White 41"Diam x 29"H | 6 | \$275.00 | Т | \$1,650.00 |
| | NEW Central Oversized Ottoman 48"D - White | 4 | \$300.00 | Т | \$1,200.00 |
| | NEW Accent Table (Design TBD) 24"D | 4 | \$500.00 | Т | \$2,000.00 |
| | Ottomans - Standard Pod 18"RND x 17"H - Cover Color Upon Request | 16 | \$50.00 | Т | \$800.00 |
| | Accent Pillows - White | 70 | \$30.00 | Т | \$2,100.00 |
| | Monaco Straight Beveled Bar 8'L - White 31"W x 8'6"L x 44"H - Color Change Upon Request | 4 | \$850.00 | Т | \$3,400.00 |
| | McDonald's Facade - Design TBD | 2 | \$4,500.00 | Т | \$9,000.00 |
| | | | Total Reception Spa | ace | \$273,221.00 |
| Restroom Tent | | | | | |
| | Exterior Perimeter Drape - TBD Material | 1 | \$2,500.00 | Т | \$2,500.00 |
| | Exterior Ceiling Cap - TBD Material | 1 | \$1,895.00 | Т | \$1,895.00 |
| | Interior Perimeter Drape - TBD Material | 1 | \$2,500.00 | Т | \$2,500.00 |
| | Interior Ceiling Drape - TBD Material | 1 | \$2,875.00 | Т | \$2,875.00 |
| | Perimeter Valance - TBD Material Interior and Exterior | 1 | \$950.00 | Т | \$950.00 |
| | | | Total Restroom T | ent | \$10,720.00 |
| Additional Items | s - TBD | | | | |

| Description | | Qtty | Price | Total |
|-------------|--|----------|----------------------|------------|
| | Product TBD | 1 | \$0.00 T | \$0.00 |
| | | Total Ad | ditional Items - TBD | \$0.00 |
| Services | | | | |
| | Installers: Install Sunday | 6 | \$450.00 | \$2,700.00 |
| | Installers: Install Monday | 13 | \$600.00 | \$7,800.00 |
| | Installers: Install Tuesday | 13 | \$600.00 | \$7,800.00 |
| | Installers: Install Wednesday | 13 | \$600.00 | \$7,800.00 |
| | Installers: Install Thursday | 12 | \$600.00 | \$7,200.00 |
| | Installers: Install Friday | 12 | \$600.00 | \$7,200.00 |
| | Installers: Saturday Touch Ups | 8 | \$500.00 | \$4,000.00 |
| | Installers: Saturday Stand Bys | 4 | \$350.00 | \$1,400.00 |
| | Installers: Strike Monday | 14 | \$600.00 | \$8,400.00 |
| | Installers: Strike Tuesday | 14 | \$500.00 | \$7,000.00 |
| | Trucking: 24'L Box Truck | 10 | \$500.00 T | \$5,000.00 |
| | Trucking: Fuel Surcharge | 10 | \$65.00 T | \$650.00 |
| | Manager: Layouts & Production Management | 1 | \$7,500.00 | \$7,500.00 |
| | Manager: Onsite for (8) Days | 1 | \$6,800.00 | \$6,800.00 |
| | Custom: Upholstery Labor & Trucking | 1 | \$7,500.00 | \$7,500.00 |
| | Custom: Prop Build Design & Labor | 1 | \$9,500.00 | \$9,500.00 |
| | Custom Prop Builds Trucking | 1 | \$3,000.00 | \$3,000.00 |
| | Custom: Subrental Labor & Trucking | 1 | \$4,500.00 | \$4,500.00 |
| | Subrental: Kabuki System price approx | 2 | \$3,000.00 | \$6,000.00 |
| | Pre-Production: New Builds, Supplies & Labor This is a guesstimate until after all items have been confirmed and supplies purchased. Will Finalize after event has concluded | 1 | \$10,000.00 | \$10,000.0 |
| | Certification: Flame Proofing Fabric | 1 | \$5,000.00 | \$5,000.00 |
| | Certificates: Flame Proofing Materials | 1 | \$3,500.00 | \$3,500.00 |
| | Supplies: Onsite for (9) Days | 1 | \$3,785.00 | \$3,785.00 |

Please make checks payable to Revelry, Inc.

Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it

Notes

Total Products: \$603,746.00
Total Labor/Services/Misc: \$134,035.00

Wear & Tear (2.00%): \$12,074.92
Packing (3.00%): \$18,112.38
Taxes (tax excempt): \$0.00

Discounts: (\$0.00)

Total: \$767,968.30

Payments: (\$0.00)

Balance: \$767,968.30